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Full Adder (2)

cin > sum_ out
- — DUT > carry_out
a_in [ (Full Adder)

b in

T

madule full adder (a in, b in,

input [3:0] a in, b in;
input c in;

output carry out;
ocutput [2:0] sum out;

reg carry out;
reg [5:0] sum out;

always @ (a _in or b in or c_in)
begin
{carry out, sum out} =
end

endmodule

¢ in, ¢ out, sum out);

a in + b in + ¢ in;



Full Adder (3)

cin > sum_ out
o . DUT > carry_out
a_in [ (Full Adder)

b_in D

full adder dut (
.a_in( )
.b in( )
.c_inf( )
.carry out( ),
.5um_out ( )

) ;
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‘timescale 1 ns/ic

module full adder test; // 4-bit

reg [2:0] a, b;
reg c;

wire [2:0] sum;
wire carry,;
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#50;

a = 4"'K0101;
b= 4'b1010;
ff => sum=1111,
#50;

a =4'b1111;
b= 4'k L
J/ => sum=0000,
#50;

a = 4'b0000;

b =4 17

c = 1'bl;

// => sum=0000,
#50;

g =-4"b0110;
b=4'F 1:;
Hfo=> sum=1000,

endmodule

carry=0

carry=1

carry=1

carry=0

full adder dut (

.a_in( Y,
.b_in( )
.c_in( Y,
.carry out(
.sum_out {
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“timescale | ns/10 ps
module full adder test; // 4-bit

reg [2:0] a, b;
reg c;

wire [2:0] sum;
wire carry,;

& full adder dut (
.a_in( Y,
.b_in( )
.c_in( ),
.carry out( Y,
.s5um out ( )
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#50;

a = 4"'K0101;
b= 4'b1010;
// => sum=1111, carry=0
#50;

a = 4"bl1111;

bm d'hi L

/ => sum=0000, carry=1

.:,

/ => sum=0000, carry=l
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endmodule



“timescale 1 ns/10 ps
module full adder test; // 4-bit

reg [2:0] a, b;
reg c;

wire [Z:0] sum;
wire carry;

Hfull adder dut (

.a_in(a),

.b in(b),
.c_in(c),

.carry out(carry),
.sum_out (sum)

T ™
Il
W
Il
—_
= =
=
=
-

carry=>0

= 4'00001;
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carry=1

= 4'b0000;
= 4'p1111 -
= b1111;
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/ => sum=0000, carry=1
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= 4'b0001;

/ =» sum=1000, carry=0
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endmodule
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